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A Work out the value of |Write this statementin What is the order of
ua words: rotational symmetry of
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Mel works for 6 hours Calculate: Whatis a + b? What is the coordinate of
and earns £39. How DX12 the midpoint between (1,2)
much is Mel's hourly -2y a=(}andb=3) and (5,5)?
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What is the length of the | Write 0.0005017 in Calculate: Write down the value
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Evaluate What is the lowest Calculate: Expand
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Factorise and solve

A LITTLE BIT OF MATHS EVERY DAY ...

FRIDAY SATURDAY SUNDAY
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Write: Is line AB a straight line? Explain your answer
7.907 correct to 1 128 Mo. e sumof rhn.wl.w
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Simplify fully The area of a rectangle is 100 cm’.
The length of the rectangle is 4 times its width.
m? xm=8 Work out the width of this rectangle.
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Tips in a restaurant are shared according to the number of
hours each person works.
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y hours as Alice:
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Anumber "x", istounded = ABCDEF is a regular hexagon. ‘
t0 7.15 correct to 2 decimal What is the size of angle CBD? =
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REMEMBER: THE BEST WAY TO REVISE MATHS IS TO "DO
MATHs"!
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